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4x7 Logic Puzzle
Presented by Puzzle Baron

Puzzle ID: K750BX

For hints, solutions and more puzzles, go to our website:
www.Printable-Puzzles.com
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Clues for Logic Puzzle: K750BX

1. The one with 707 Twitter followers has 20  more Facebook friends than the person with 70 LinkedIn
connections.

2. Neither the one with 72 LinkedIn connections nor the person with 605 Twitter followers is Yvonne.

3. Heidi has 50  fewer Facebook friends than the one with 65 LinkedIn connections.

4. Of the person with 64 LinkedIn connections and the one with 50 LinkedIn connections, one has 640 Twitter
followers and the other has 230 Facebook friends.

5. Yvonne has 240 Facebook friends.

6. The one with 789 Twitter followers doesn't have exactly 72 LinkedIn connections.

7. The person with 200 Facebook friends doesn't have exactly 605 Twitter followers.

8. The one with 54 LinkedIn connections has 10  fewer Facebook friends than Heidi.

9. The one with 70 LinkedIn connections has 30  fewer Facebook friends than Blake.

10. Of the person with 230 Facebook friends and Frank, one has 54 LinkedIn connections and the other has
715 Twitter followers.

11. Zachary doesn't have exactly 200 Facebook friends.

12. Opal has 30  more Facebook friends than the person with 804 Twitter followers.

13. The person with 789 Twitter followers, Frank, Yvonne, Heidi and Margie are all different people.

14. The one with 64 LinkedIn connections has  more Facebook friends than the person with 72 LinkedIn
connections.


